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A can do a piece of work in 5 days and B in 4 days. How long will they take to
do the same work, if they work together?

A aeaim @m Geuemevenul D5 BT Heflewd, B  easiuam £9/6x Geusmevenws 4
BT S6eMed  QFuIg  (pRULTTH6T 6leie0, Sleualheurmbd GCFibha  DieuGaIm6evmUIF
CFWIF (PIYSHd 61HSHMT BT H6IT DYGLD?

Solution:

Work done by Ain 1 day = %, Work done by Bin 1 day =

work done by A and Bin1 day = 1+%

4+5_ %Y of the work
20 20

Total number of days required to finish the work by A and B = = 2% days.

/o

A and B together can do a piece of work in 16 days. but A alone can do it 24
days. How many days would B alone take to do the same work?
@ Geouemevenwt A, B @meummid Gambam 16 mpmisefled  @pglir. A ol B
oleBaimevenwt 24 BT Hefled  @pplumT. B B &6i8amevenul  6153Heme0
BT SH6M60  (LPIQUILIMIT.
Solution:

A & B can do a work in 16 days

(A + B)'s one day work = %

(A)'s one day work = i

(A+B)-A=1_1
16 24
B 32
48
3
48
B can do a work alone in 48 days

A can finish a job in 20 days and B can complete it in 30 days. They work
together and finish the job. If Rs. 600 is paid as wages, then the share of A and B
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A @ Gouemevenws 20 BT s6efed, 96k Gouewevenws B 30 BTl sefleud (Lol
Ameumpd  Gaibg  Geuemev  GFuizl, SieiGauemevenwt  (PHRH 60083  FHHISH6N
QUHATWTSHL CQUBBETT 6T6fled SIaUTHET @AIOUT(HAUHD GUXID CFHTmD 6l6lal6Ne)]?
Solution:

Time taken by A =20 days

Work done by Ain 1 day = %

Time taken by B = 30 days
Work done by Bin 1 day = %

Wages = 600
1.1

Ratio of work done by A & B in 1-day = 20" 30 =3:2

So. The ratio of the wages will be 3 : 2
3x + 2x = 600

5x =600

x =120

A’s wage = 3x =3 x 120 = 360

B’s wage = 2x =2 x 120 = 240

A and B can do a piece of work in 18 days; B and C in 24 days and A and C in 36
days. In what time can they do it, all working together?

A, B @mwaumd o Geaumevenw: 18 mmlisefleo Gauig wolur. B, C 9065
Gauemevemws 24 mIL sefled GFuig  wltiuT. A, C 918x Geaumevenuws 36 BT Heifled
Qauigl (WlIUf. cwpaud GaFThgl eiHHemen HIL Heifled QFUIH (WIQLILIT?

Solution

Work done by A .and Bin 1 day = %

Work done by Band Cin1 day = i

Work done by Cand A in1 day = i

Work done by (A +B) + (B + C) + (C+A) in 1 day = % iJr%

44+3+2

Work done by (2A +2B +2C) in1 day = -

Work done by 2(A + B+ C)in 1 day = %

Work done by A, B and C together in 1 day = 218 =%
X

. A, Band C will finish the work in 16 days.
5. A works 3 times as fast as B and is able to complete a task in 24 days less than

the days taken by B. Find the time in which they can complete the work
together.
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A gee B o smigend 3 wLmg Gauswons @@ GCalemevenul OQFUWIHI  (LIQUILITT.
SIITEL SHHI Uenienul B e1(hdHgdh Osmeni. ChrHeangd ol 24 BIeTHeT &mBalTd
qdBHIB (PIHH (PIYRIHBGI. eleied SmHaurhd CFIba Dibd Colemevenul (PYshsd SLEGLD
CrIHems SN,

Solution:

If B does the work in 3 days, then A will do it in 1 day. That is, the difference is 2

days. Here, given that the difference between A and B in completing the work is
24 days. Therefore, A will take % =12 days and B will take 3 x 12 = 36 days to

complete the work separately.
ab

Hence, the time taken by A and B together to complete the work = .

days.

12x36 1236
12436 48

=9 days

Two taps can fill a tank in 30 minutes and 40 minutes. Another tap can empty it
in 24 minutes. If the tank is empty and all the three taps are kept open, in how
much time the tank will be filled?

QM OaTiymw &m GWTWUS6T SHelssealCw  wpepGuw 30 pllmser, 40
B migelled HiFliyslemper. BEBTH Grul B HFwlw CeTgenus 24 B migseTed
&160 O, CsTily &Telwns Smbd Slbepaim GWTUISEHD @6r &Fuigse0
SHBbeH LU LT DISHOSHTLY THHme HIOL HBIGH6aT60 BIFDLLD?

Solution:

Quantity of water filled by the first tap in one minute = %

Quantity of water filled by the second tap in one minute = %

Quantity of water emptied by the third tap in one minute = i

Quantity of water filled in one minute, 1 1

30 40 24
when all the 3 taps are opened
_443-5 7-5
~ 120 120
2 1

T120 60

Time taken to fill the tank = Lo 60 minutes

F0

P and Q can do a piece of work in 20 days and 30 days respectively. They started
the work together and Q left after some days of work and P finished the
remaining work in 5 days. After how many days from the start did Q leave?

P oppidb Q ou@dCuwn e Couemsvenws (wempGuw 20 wmmid 30 preseflsd (gl
SlalTaell  maurmd amras  Caipbal  GCoumevenwid OHTLMISIT. Fov  [HI6TH6T
Gauemev OFUIH L@ Q oemaT OFamIalGABIT. WH(peTen Caiemevenut P syeeuT 5




APPE&> L0O

STUDY CENTRE
CHENNAI

BT6ITH6MeD  (LPISHAMTT  aTelled, OBHTLRIBWSHHHEHI eidHHmen BTeTbEhdHG LIBE Q
Gouemevemw &l BF CFeIBTT?

Solution:

P’s 1 day’s work = % and Q’s 1 day’s work = %

P’s work for 5 days = i><5=i:l
20 20 4

Therefore, the remaining work = 1- % =3 (Total work is always 1)
This remaining work was done by both P and Q.

Work done by P and Q in a day = %+3i0:%=é

3
Therefore, the number of days they worked together A:—xg =9 days

3
4 1

e

So, Q left after 9 day from the days the work started.

A, B and C working together can do a piece of work in 8 hours. A alone can do it
in 20 hours and B alone can do it in 24 hours. In how many hours will C alone
do the same work?
A, B oppip C Semewibagl o Galenevenul 8 wewil GhIsHaled GQFUigiell  (pigujb. A
seoiwmed 20 wewl GhrHEHevd, B L Gd 24 wewll CursHdlend Gauiwr pgujd. 2i8%
Gauemevenuw! C 1oL BID eTdHGHemaedt 6wt GBIHaled GFuieum?
Solution

A can do a piece of work in 20 hours

Work done by A in 1 hour = %

B can do same work in = 24 hours

Work done by Bin 1 hour = %

A, B and C working together can do the same work in = 8 hours
Work done by A, B, C together in 1 hour = é

Work done by C in 1 hour = (work done by A,B and C in 1 hour) - (work
done by A and Bin 1 hr.)

= Time taken by C alone to complete the work = % = 30hours.

30
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A and B can do a piece of work in 12 days and 9 days respectively. They work
on alternate days starting with A on the first day. In how many days will the
work be completed?

A oppib B g 80wnim @m Gsusmevenws (pedp@uwi 12 ®mmeiise oBmId 9 Hreisered
GaulauT (pHev HTeT A msb Oameanih Geaumevenuld OHTLMIF DIBHHBHD HT6THer60
Smeumd  Couemevenw  GFLIFSIBIT  6l6led, GoumeuTaIZH  61HHEMT  BT6ITSH6IT6D
(pigujd?

Solution:

Since they work on alternate days, let us consider a period of two days.

In the period of 2 days, work done by A and B = %+%=£

If we consider 5 such time periods for the fraction é (we consider 5 periods

because 7 goes 5 times completely in 36),

work done by A and Bin 5 x 2 (=10) days =5 x %:%
35 1

Therefore, the remaining work = 1- -3

This is done by A (why?) in %xlz :% days

So, the total time taken = 10 days + %days = 10%days

X alone can do a piece of work in 6 days and Y alone in 8 days. X and Y
undertook the work for X 4800. With the help of Z, they completed the work in 3
days. How much is Z’s share?
X eeeum FalCw @ Geouemevenuws 6 Hreidefleid, Y eaiuaT HaIGwW 6%
Gauemevenw! 8 mreseiad (piglir. X wBmid Y 6wt Ghs Geumevenws X 4800
B5F @UUSb OsmewiLent. Z eauaifear o selujl el SelTdel bhd GCalenevenul 3
BT6TH6M0 (LPIQHHIT 6lalley, OFHTansuied Z @& URIEG ol6lalene]?
Solution

X can do the work in 6 days.

X’s 1 day work = %
X’s share for 1 day = % x 48000 = Rs 800

X’s share for 3 days = 3 x 800 = 2400
Y can complete the work in 8 days.

Y’s 1 day work = %

Y’s 1 day share = %x 4800 = 600

Y’s 3 days share = 600 x 3 = 1800
(X +Y)’s 3 days share = 2400 + 1800 = 4200
Remaining money is Z’s share
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~ Z's share = 4800 - 4200 = 600
EASY

A is thrice as fast as B. If B can do a piece of work in 24 days, then find the
number of days they will take to complete the work together.

A et B eeuaiengs HTgeid Galemev GFUleudled el DL HIG Geuslomeal.
B aear @m Geaemevenul 24 mreisefled (1pQliLmT  elefled, @HeUHD enemihl
OHS Ceumevedul (PIYHE 1HHMET [HT6TH6T 61(HHHIS OBTEITEUT 6Te0Tdh BHTEWISb.

Amutha can weave a saree in 18 days. Anjali is twice as good a weaver as
Amutha. If both of them weave together, in how many days can they complete
weaving the saree?

SIWPSHT, @ GCFemevenws 18 HTeIH6eMe0 OBUIUTT DiEhdFed, DWWSHTHal Il
OBpWIFHeL E(h LG —FHpewwgTedl  EmeumD  Dewenibd  GBUISTE,  DIHHF
BFemevemUl 6THHME [BT6TIH6N60 OHUIGHI (LPIQUILIT?

A cistern can be filled by a tap in 4 hours and emptied by an outlet pipe in 6
hours. How long will it take to fill the cistern if both the tap and the pipe are
opened together?

@ OCaTienus 4 wenl CHIHHL GTUI cpeod BIFUL, 6 wewl GCHIHHEL LOBOEMBTH
GWTUI  epeuld HMeVl GFUIW  (pujb. STIUSSHe0 CFHTLY STWTS HHSH, G
GTUISEHD @81 CHIHHed HBhHEH eI LILLLTD, DIHOHT I eelelene| HILOL miHerev
BIFLLD?

A can do a work in 4 days, B in 5 days and C in 10 days. Find the time taken by
A, B and C to do the work together.

A eaueum @ Geuemevemw 4 B d6fevid, B eremeut 5 mrseilaond C eredieuT 10
BT &eflend  (plaT. A, B, C eer apaumb GaFmbz CFUIHTd bhd GCalenevenul
(WPI9&5D 615HHENET BT H6IT SLEHLD?

A, B and C together earn Rs. 2700 in 9 days. A and C together earn Rs. 940 in 5
days. B and C together earn Rs. 1520 in 10 days. Find the daily earning of C.

A, B ioppid C spdur epeupid Caimbal 9 mml sefled h.2700-3 FbUndHdd  (Lpiguib.
A ppid C Gmeumd Caibg 5 mil sefled 05.940-2y Fburdsds (pujd. B ommibd
C @meaumd Gsmpg 10 mmlsefled p.1520-3 FbundhHds wpud. C -e1 Heorg
oI elleleNe)] eaiml HenlBLIGS D6 D?

MODERATE

12 men or 18 women can do a work in 14 days. How many days will 8 men and
16 women take to complete that work?

12 emideil Sleevdl 18 GuenideT o Geuemevenwt 14 BT SHerMled GFUIeUT 6Telled 8
SLEMIBEDHID 16 CuemisEpHD CFMHEH DibhdH Gouemevenll 615HHEM BT &H6M60 (LIQLILIT?




APPE&> L0O

STUDY CENTRE
CHENNAI

A, B and C can complete a work in 5 days. If A and C can complete the same

work in 7% days and A alone in 15 days, then in how many days can B and C

finish the work?
A, B oppid C eau apaum g Gauemevenul 5 mHeisdeied (piplium. A woppid C

o BHCwnt  918%  Beuemevenul 7% preisefad A opemeuT  HelGw  oemgk 15

predefled  (pwliT  eleied, B wompid C a6wnm b Geuemevenuwl  (1p19dHsd
615 FHENG  [BT6ITH6T SLEHLD?

A tap A can fill a drum in 10 minutes. A second tap B can fill in 20 minutes. A
third tap C can empty in 15 minutes. If initially the drum is empty, find when it
will be full if all taps are opened together?

A aaip Tl @ Ouflw uTEFHISmeHS HlGw 10 Mol miseflsd iy, B eem
Gl 96 uTHATHMmBS HHIBw 20 POLmEaNed MBI, BT HridueTer
LTsHTHmeH C  aamp  Gomwl 15 plilmiseflsd  &m6d  Gauiugd.  SibLSHSHe0

UTSHHTD STeIWTS SHHSHI, SLbepeiiyl GTUISMETUD HBHST6L, DLIUTHHTLD BHIFLbL
aTeledeney GpITELD?

4 Indians and 4 Chinese can do a piece of work in 3 days. While 2 Indians and 5
Chinese can finish it in 4 days. How long would it take for 1 Indian to do it?

How long would it take for 1 Chinese to do it?

4  @bhHwiTder pmid 4 Feortder Gafbgk 3 mHIeHeNed  e@p  Geuemevenul
(P&HHBITH6T. 2 @bFHwTser wwBpid 5 JFariser Caibgk o168 Geusmevenws 4
BTEIH6MN60  (LPQSFMTTHET 6lelled, SUiienllenuld SHONWTS @(h GHHWT 615HHM60
BT6H6M60 QFUIUTT? (h FelT HMWTH 61HHW HT6iTHeille0 GFuIeuT?

A can do a work in 45 days. He works at it for 15 days and then, B alone finishes
the remaining work in 24 days. Find the time taken to complete 80% of the
work, if they work together.

A geam @m Geouemevenuwt 45 mreTseilsd (LT oeuT 15 mreTsEnsHE WL BGW
Gauemev Gauistt. 1Img, B oemam Baomhs Gealemevulewer 24  mHreTserled
(WSABTT.  Smeairmd Bemeanhadl Galemev GFUISTL, Obd Gauemeoulst 80% o
WP1YHs UG CHISHmds ST sH.

X, Y and Z can do a piece of job in 4, 6 and 10 days respectively. If X, Y and Z
work together to complete, then find their separate shares if they will be paid i
3100 for completing the job.

X, Y wppid Z @8t @ Geuemevenw (1pewmBui 4, 6 wmpid 10 mreTseried
it X, Y oppidb Z epdul cpeumid ety CFba ibd Calemevenul (LpIgSHSHTev,
OIHBHTH DlalTaEnd@G 1 3100 aupmisiuBd eafled, SlalTser HaldbHanGuill GUpID
LIRS SM6E  HTemIsH.
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A takes 6 days less than the time taken by 5 to finish a piece of work. If both 4
and 75 together can finish it in 4 days, find the time that 5 would take to finish
this work by himself.

@ GouemevenwF QFuiw A-&@ B-eww alL 6 BT &6 GHoopaunsd CoHemauliLiBSBEI.
Bmaurmd BFhal SieIGaimevenwlsF GFUIHTL Siewd 4 BT Hefled (pdbs EUIgID
sieollev, B sellCw oieiGauemevent eidhHenen HTL&H6ifled (pIpdhs Buienid?

HARD
3. 3 men and 4 women can earn X 3780 in 7 days. 11 men and 13
women can earn i 15040 in 8 days. In what time will 7 men and 9

women earn X 124007?

3 ouemiskell opmib 4 GueniseT 7 BTL&6T @b Geuemev GFUieumHer cpsold h 3780
oagHwomsd  OupIFSmerT. o685 Geousmevenws 11  Siewidel BBID 13 CUEHIHET
CgueudTed 8 BIL&EHHG h 15040 gy emgluiors OuBmTed, /6% Couemevenwt 7
SLEWIHET MWD 9 OuewiseT OGFuigd @ 12400 & OGuUB S BT H6rle
61630160011 b6 7

A can complete a work in 10 days, B in 12 days and C in 15 days. All of them
began the work together, but A had to leave the work after 2 days of the start
and B, 3 days before the completion of the work. How long did the work last?

A, B, C a88wnm q@m Geusmevenul pedmp@uwi 10, 12, 15 mrlsefled wipli. epai(hid
Gambal olaIBaimevenuwl OCETLBmISeT, A eeUaT 9eGaemev  GFHTLBISW B
BT HEhHG Llelamid, B eaiuaT o6iGaiene0 (pYaISBE& (Il BT &6  (LPeITLLD
GeualiGuiplieun eteoled DIHH Couemsv (WPIPUI DYGLD BT FH6iT?

It takes 24 hours to fill a swimming pool using two pipes. If the pipe of larger
diameter is used for 8 hours and the pipe of the smaller diameter is used for 18
hours. Only half of the pool is filled. How long would each pipe take to fill the

swimming pool.

Am OCeouaiBoum oemey eIl L (LU  GWLTUISET (PVLD  @(hH HFFD (GH6THSH60
(ppe»wWTd BT By 24 wewnl CHIL SGW. DIHS Il L (Pl GLTenu! 8 LDewl
Crypd  GeomphH llLpdLwl  GTenw! 18  wewll  Cryupd LweTUGSHSH BT
BIldemmed BHEFL GHeMHHe0 LTH Sleney BT HIFIDLWD 61660, HANHHHNWTH DibHHd
GTUISMmeTSH  OaTeni(h BHFFL (G6NDd (pueuHed BT [l UG 6L
DI6116)|H6N6NH  SHITEHISb.

P can do a work in the same time as Q and R together. Also P and
Q together can do the same in 12 days. R alone does in 60 days. In how many
days can Q do it alone?

@@ Geauemevenws Q-ab R-b Baibg Gaud £16x GprHzled P-wimed OGaFuiuwipiuii.
Pupp Q-ayib Gopg 9185 Geuemevenws 12 HIL Herfled QFUIH  (1p19dhd  (LPIQULD.
Gogib R wl B 218% Gaimwevenul 60 BT &eiled (PIgdhs (PIQUID 6TaTBTed  (-6uTed
THHM BT H6M60 DHH Couenevenul (PI9dhs (WIgU|LD?

(GROUP 1, 2017, Section 15 Mark)




